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VI Semester B.Com. Examination, September/October 2023
(CBCS Scheme)
COMMERCE
Management Accounting

Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written completely in English or in Kannada.
SECTION - A
SN - R

1. Answer any five sub-questions. Each sub-question carries two marks. (5%x2=10)
CRITRTTR 0T WWT-T,Z MR ev3on. B3 OVT-T,F 7 ATTO 0B,

a) What is Gross Working Capital ?
m@@ T9T, WO QOTTE ?

b) State any two objectives of Management Accounting.
AV e ataon uﬁm@cs QO wcfé)ezme:sgl EPR.

c) Write any four components of current liabilities. A ©
T,ROT BABMOFOL CBRYTIETR LY, SOBNTSY TTOR. S

d) What is Current Ratio ? ~2z1
TR RTB DOTTE ?

e) What is Internal Analysis ? Uy e ,
©0Z08 VYR D0TITERD ? e’

f) Mention any two objectives of Management Reporting.
VR BT BICOMPOFOR) CINFTOTTR TR emz%eéﬁ@aﬁg{ W30,

g) What is Cash Flow Statement ?
NV BO T3, DOTTED ?

P.T.O.
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SECTION-B
PR - W

Answer any three questions. Each question carries six marks. (3%6=18)
CIRTYTIWTR T[T T,I N7 LUZ0R. B,3 TZ 1 ST Sosned.

2. Briefly explain the role of Management Accountant.
VRFTHR FTTR T T3, 3, FOFTN QTOX.
3 < 2, s
3. From the following information, calculate following ratios.
a) Quick Ratio.
b) Stock Turnover Ratio.
c) Debt-Equity Ratio.

Current Assets — 12,00,000, Opening Stock — 1,20,000, Closing Stock —
3,20,000, Cost of goods sold — 46,00,000, Equity Share Capital — 16,00,000,
10% Preference Share Capital — 6,00,000, 12% Debentures — 6,00,000, ¢
Current Liabilities — 6,00,000, General reserves — 4,00,000.

=

.

B3 FYTOT &S00 FeLTOR BIVTITHI, FORILBU0. ~
a) 20T TOTE.

b) TR Weewmptdd RT3,

C) ARO-B38ES ROTDT.

g @AY — 12,00,000, ©tops A — 1,20,000, wmrozid TR —
3,20,000, xo8on¥ Snoewid &, — 46,00,000, momns, &eod LoRmess #eg
16,00,000, 10% @55@ ReTO WoB=Y — 6,00,000, 12% AOTE, N0 — 6,00,000,
W9 %mm@@ﬁ%b —6,00,000, mmsﬁ QR0 — 4,00,000.
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4. From the following details find out funds from operations of Jet Airways.

Salaries 17,000
Depreciation written off 30,600
Profit on sale of Fixed Assets 28,000
Discount on Debentures written off 40,000
Loss on sale of Investments 4,000
Preliminary expenses written off 16,000
Proposed Dividend 1,00,000

Transfer to Debenture Redemption Fund 40,000

Dividend Received 9,000
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BYTOR DRTNPOT 263 NO°FeTT FooE FOWOE DTEBNRLOT WTOT QRO

FOBRILBOWD.

RRT FRSRROBIT)T

AT XBONG TRTEIT oI

R I

AROTE, MY 20T OCIRCAS0NTY FRBRAPRTITZID
TREINT [RTE300T IR,

TRBRAPAT FRTF T D

BRI T9eT003

AROTZ,NY VRS QK S ot

:-:c%e'o*@ﬁocj CRWOOS

4
17,000
30,600
28,000
40,000
4,000
16,000
1,00,000
40,000
9,000
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the reasons for declining profits.
20T FOTIOD D) IREO0T wa:iFéd mﬁaomm%d. & FOTICD 68{1@!\ 9T

i’mdfamfﬁg}t xoi@’mﬁ QDO 2,08 ESC?@OJ’JF’% 3035004

6. Prepare a Comparative Income Statement from the following.

Particulars 31-03-2021 31-03-2022
§ T

Sales 21,50,000 25,00,000

Cost of goods sold 13,00,000 14,50,000

Operating Expenses -

Administrative Expenses 2,10,000 1,80,000
Selling Expenses 1,90,000 2,50,000
Non-Operating Expenses :
Interest 1,40,000 1,20,000
Income Tax 1,70,000 2,30,000
B3 I9NT TRLS0s Claplevbing Swme’éﬁ w‘&iodﬁoq clevhplo)-
QRTNED 31-03-2021 31-03-2022
T 3
RITES 21,50,000 25,00,000
JINT INRART K0S ﬁzgd 13,00,000 14,50,000
:DlevOpt ol (o] Towt) ﬁza;ﬁ%fo .
Sletorct aﬁzaz’d 2,10,000 1,80,000
RPTITT dagd 1,90,000 2,50,000
TOOURF OBV Sed
W& 1,40,000 1,20,000

BT 3o 1,70,000 2,30,000
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SECTION - C
PN - 2

Answer any three questions. Each question carries 14 marks. (3x14=42)
BINS CIRTRTTR Fedd B3 Rert wugon. V& T3 14 S0z

7. From the following Balance Sheets of PVR Cinemas Ltd., Prepare
a) A Statement showing changes in working capital b) Funds Flow Statement.

Liabilities 31-03-2021 31-03-2022 Assets 31-03-2021 31-03-2022
< 3 % %

Share Capital 4,00,000 5,00,000 Land 4,00,000 4,80,000

5’,_{“?_», _ General Reserve 80,000 1,40,000 Machinery 3,60,000 2,60,000

¢ N P&LAC 64,000 78,000 Stock 2,00,000 2,52,000
5_1«2/.’36"-3 Bank loan Debtors 1,60,000 1,28,000
(Long Term) 3,20,000 80,000 Bank 1,04,000 18,000
Creditors 3,00,000 2,50,000
Provision for Tax 60,000 90,000
12,24,000 11,38,000 12,24,000 11,38,000

Additional Information :
a) During the year 2022 a dividend of ¥ 84,000 was paid.

b) Assets of another company were purchased for a consideration of % 1 ,00,000
payable by the issue of shares and the assets include Land Z 50,000 and
Stock ¥ 50,000.

c) Income Tax paid during the year ¥ 70,000.
d) Depreciation written off on Machinery ¥ 24,000 and Land ¥ 45,000.
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RO

PVR 22375 Q0@ 0ms 6y B30 xemetind T, 3980808T. a) WBowerme
WEHIFOD Ted T2 b) DG TOLT TWegSOTY, SCAROA.

33RO
@
o4
ReTD WOBTY 4,00,000
mmsﬁ QT 80,000

SRINEASEY 53@5 &398 64,000

239, 05° Ao

(QeFFr=R) 3,20,000

TOOTTISTI 3,00,000

SOTMoN 10X 60,000
12,24,000

£a§§ RS :

31-03-2021 31-03-2022

<
5,00,000
1,40,000

78,000

80,000
2,50,000
90,000

11,38,000

@ansd 31-03-2021 31-03-2022

AOIAY
03008, N
(ODIDIN®

A30EINS
AN 0BO

a) Tp. 84,000 weodws), 2022 8¢, TTERTNT.

¥

4,00,000

3,60,000

2,00,000

1,60,000
1,04,000

12,24,000

i1
4,80,000
2,60,000
2,52,000

1,28,000
18,000

<

11,38,000

b) Redons RTTFHOD BReF wed FoTIC SANYRY, DOLDFIAINTY, SN =P,
%100 — 50,000 303 Tom> — 50,000, 282 Fng Se. 1,00,000.

c) ¥ 70,000 35003 301 0S8R TNG.

d) o083 Boedd B8 T 24,000 030 e Fdedd X 45,000.
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8. Following is the Balance sheet of ONGC Ltd. as on 31-03-2023.

Liabilities oy
Equity share capital 5,00,000
8% Preference capital 4,00,000
Reserves and surplus 4,00,000
9% Debentures 6,00,000
Current liabilities 4,00,000
23,00,000

Additional Information :

Assets i
Land 9,00,000
Plant 8,00,000
Stock (Closing) 3,00,000
Debtors 2,00,000
Bank 90,000
Prepaid expenses 10,000
23,00,000

Sales during the year ¥8,00,000, Cost of goods sold ¥ 6,00,000, Administrative
expenses ¥ 1,12,000, Commission and Discounts earned ¥ 12,000, Loss on
sale of Machinery ¥ 34,000, Profit on sale of Building X 54,000.

You are required to calculate :

a) Current Ratio b) Liquid ratio

. ¢) Stock turnover ratio
e) Operating cost ratio
g) Debt-equity ratio
i) Proprietary ratio

ONGC 90e3r*TsmT £ T2 KR

= : @

zzmm@bﬁ% -4
ADBINT,TWETO LOTY 5,00,000
8% &7 o Fedd wommey  4,00,000
QRO B BUF 4,00,000
9% ToOTI,NEO 6,00,000
BT BATBMOOFNY 4,00,000
23,00,000

d) Gross profit ratio
f) Net profit ratio
h) Solvency ratio

w3, 31-03-2023T000 &3 FPT0T0ST.

SN =

ATOTAY 9,00,000
03008, Mg 8,00,000
PR 3,00,000
BVShorates) 2,00,000
239, 0T 90,000

BIONT TIWEATI SN0 10,000
23,00,000
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é%ﬁ RS

=00t - T 8,00,000, RT3 R0 dﬁ@i— T 6,00,000, =@ d?'s;s -
% 1,12,000, 320eHS* 202 00dR0%08 NPAT) - X 12,000, 03008, SRTLT 393
3%, - ¥ 34,000, 33 TRT8IT B0edT ooyl T 54,000.

FOTBILROD 1
a) 9 BRTI b) ©,= ¥<o0Te3
C) TR Bt BROTWS d) 2830 YIT BT
e) TR WTHOL BB wWE ) INY oy e
g) AO-B3YLS BTOTI h) LR 8w ==
R
) 50T R0, / P
9. From the following Balance sheets of Nestle Ltd. and Glaxo Smith Ltd.,| (-":':
AN . &
you are required to prepare a common size statement and comment. ‘\.(?f{;:\;,}f_?} b
S
Liabilities Nestle Glaxo Assets Nestle Glaxo Smith
Smith g T
T 3
Equity shares 6,50,000 3,60,000 Land 9,00,000 4,40,000
Preference shares 3,00,000 2,00,000 Machinery 7,00,000 5,00,000
Reserves 2,50,000 4,00,000 Investments 1,00,000 60,000

Long term loans 9,00,000 5,00,000 Cash and Bank 1,10,000 40,000

Bills payable 60,000 30,000 Prepaid expenses 60,000 28,000
Outstanding expenses 10,000 4,000 Stock 3,40,000 4,40,000
Creditors 40,000 14,000

22,10,000 15,08,000 22,10,000 15,08,000
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Nestle Ono63® 23383 Mg, 43° OROHE® BOTRNS &3 T03) WO T, TNSST.

RO NoF, T ed 0009 BCUT0DA 3808 DBLAR.

WENT O Nestle
4
mm% HeTONED 6,50,000
BT3,T0 WeTONTO 3,00,000
QOERED 2,50,000
ST DEFFTE ToO 9,00,000

W

31 22 _/BF ToméRestommy 60,000

AP dzg’d aL=s) 10,000

TOOTIITO 40,000

Glaxo @3N

Smith
4
3,60,000

2,00,000
4,00,000
5,00,000
30,000
4,000

14,000

22,10,000 15,08,000

Nestle
r4
R TOIAS) 9,00,000
CH0T, Nsd 7,00,000
TRBFINSD 1,00,000

Rrch 5% 039,0%° 1,10,000

TOONT TR
mgd ned 60,000
[ODEIDING) 3,40,000

-0

Glaxo

Smith
x

4,40,000
5,00,000
60,000

40,000

28,000

4,40,000

22,10,000 15,08,000

10. State with reasons whether the following transactions result in the increase or

decrease of working capital or do not affect the working capital.

i) A company issued 10,00,000 shares of ¥ 10 each at par.

ii) Cash collected from Debtors ¥ 50,000.

iif) Cash paid to creditors ¥ 1,50,000.

iv) Short term investments sold ¥ 55,000.

v) Discount on issue of Debentures written off T 5,00,000.

vi) Dividend paid ¥ 45,000.
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vii) Debentures of ¥ 10,00,000 were converted into equity.
viii) Bills payable settled ¥ 38,000.

ix) Income Tax paid T 44,000.

X) Bad debts written off were recovered X 49,500.

T8 SYATOT HLoeorIdNEL 520,520 LOTRTYRY BN J\m@d@@, BRICIRNYTRE
BT WHSVWFOTNTOTI DY DOTO FITLD R&oB SR,

i) 20T ﬁo:o;o:’m 10,00,000 secbriea X 10 T 508 WSR Qeq0.

ii) adedneon BB Tea 50,000.
=
iii) FemBOR Ve Bes 1,50,000. o KGF
i eSET — '“‘ 4";13‘-—'“—
iv) ©eRmQ BN X 55,000 8 BRU2LTINGS. S

V) &30 HBoedT 0ednotng X 5,00,000 RTINS,

vi) epyoos Qe&E X 45,000.

vii) T 10,00,000 233030 @23023Boned SeToNToN T B0 BN3.
viii) 203, T9E8TeIesTOFYTH T 38,000 TTERT.

iX) e300 301 T 44,000 smERT.

X) %00 BRFT FOR T 49,500 B3 TRF LOTBRTORYT.

11. From the following Balance Sheets of Vikram Sarabhai Ltd., Prepare a Cash
Flow Statement (Indirect Method) (AS — 3).

Liabilities 31-03-2021 31-03-2022 Assets 31-03-2021 31-03-2022
3 d X X

Equity share Land and
Capital 13,80,000 13,80,000 Building 9,00,000 9,00,000

Profit and
Loss A/c 96,000 1,38,000 Plant 3,12,000 4,20,000
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Reserves 3,60,000 3,60,000 Short term

Long term loan 5,40,000 4.20,000 Investments 6,60,000 4,44,000

Bills payable  2,40,000  2,64,000 Stock 4,92,000 6,36,000

Creditors 6,18,000 5,76,000 Debtors 4,02,000 2,58,000

P O/S Expenses 78,000 72,000 Cash 5,40,000 5,28,000
Prepaid

Expenses 6,000 24,000

o 33,12,000 32,10,000 33,12,000 32,10,000
Additional Information :

a) 15% Dividend was paid during the year.

b) Depreciation written off on land and building ¥ 90,000

c) Plant was purchased for T 1,80,000.

d) Old plant costing ¥ 72,000 was sold for ¥ 60,000.

T,307° TRTLIR0N QOB TRT By BB wwRd B, IWE0E0T. SN BT
ajégdomagt (Indirect Method) (AS-3) 2c3n0a.

WP O 31-03-2021 31-03-2022 s 31-03-2021 31-03-2022
< R 4 =

ROBRT, Fedd R T2

LWOBZF 13,80,000 13,80,000 6&3}37@0 9,00,000 9,00,000

Y WOBY
RN 96,000  1,38,000 =o=T 3,12,000  4,20,000




